Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER -2(CtoD) News EXAMINATION - SUMMER - 2023

Subject Code: C4300004 Date : 10-08-2023
Subject Name:Applied Physics
Time: 10:30 AM TO 12:00 PM Total Marks:70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
No. | Question Text and Option. U8l ¥al [ds&).
Which of the following physical quantity is derived physical quantity?
1. | A | Mass B. | force
C. | Time D. | temperature
o1 Aeil Hiefl 58 ofl(ds U2 ALltd AR B?
. |A |0 B. | {0
C. |dHd D. | dlUHlel
Which of the following physical quantity is not fundamental physical quantity?
2. | A. | Luminous intensity B. | Solid angle
C. | Electric current D. | Quantity of matter
o1 sil H1el 56 MRl Yeld lds R «1el?
.| A | oilld [dgldl B. |ddislal
C. | dlos udls D. | «sil esl]
1 Newton = dyne
3. |A. |10° B. |10°
C. |10’ D. | 107
1 o) 2e] = S8l
3. |A |10° B. |10°
C. |10’ D. | 107
How many significant figures are there in 0.004805 ?
4, |A. |4 B. |5
C. |6 D. |7
0.00%¢oY Hi 324l lels vis) B2
¥. |[A |¥ B. |U
C. |¢ D. |9
“Kelvin” is the SI unit of which of the following physical quantity?
5. | A. | Velocity B. | Temperature
C. | Momentum D. | Length
o1 wUe 58 e{llds L2 1l WY 118 WSH S(Cale] B2
U A | da B. |dludle
C. |dolel D. | dul®
Precision of measurement depends upon.......
6. | A. | Temperature B. | Maximum measurement
C. | Least count of the instrument D. | None of these

1/10




HIUsief]l dAledl

U AR AW B,

e | A | dlUHldd B. |t dS YUldl Hedd HIY
C. | ldeleil agdu HIY 2lsd D. |l sl U (&
Sl unit of Force is
7. | A. |joule B. | kilogram
C. |dyne D. | newton
WAsi] SI A SH 2]
9. |A |%d B. | [scluy
C. | Sl8el D. |e2q
1g/cm® = kg/m?®
8. A. |10 B. |10°
C. |10°® D. |10°
1g/cm?® = kg/m?
¢. |A. |10 B. |10°
C. |10 D. |10°
Each measurement has a number and .
9. | A | Decimal B. | Square
C. | Unit D. | Exponent
€35 HlUsl vl el 421 8.
€. |A el B. |qdl
C. |usH D. | dld
pascal is the SI Unit of
10. | A. | Capacitance B. | Electric charge
C. | Force D. | Pressure
UlRsa A __ el SIAsH 8.
. |A | ¥UlMey B. | [dweilR
C. |Han D. | eXI8L
Pitch of a micrometer screw is 0.5 mm. If its circular scale is divided in equal 50
11 divisions, then its Least countis
" | A |10%m B. [10°m
C. 110?m D. |10%m
As HIpslHleR g A% o1l dquUSIR e UR Uo SIUL B el dell WA 0.y H{lH] B,
qq | cll defl deicid Hiu s 20l
" A [10%m B. [10°m
C. 110?m D. |10%m
A Vernier callipers is calibrated in millimetre and its VVernier scale contains 10
12 divisions. What will be its least count measurement?
A | Imm B. |0.1lmm
C. [0.0lmm D. |0.00lmm
Al SlauAni Yua e [laHlemi 2ilsd & ) al-u e <l gd o (et
%2 Sl dl Alteleil dgdy HIY (5 Ak,
A Ml B. |o.qulyl
C. | o.094lHl D. | o.0094l3l
Physical quantity is derived from other physical quantities.
13. | A. | Vector B. | Fundamental
C. | Scalar D. | Derived
................. olllds A1 xe oll(ds A1 uRell diRadMl 41dd] B.
3. | A |l B. | yuneyd
C. |uleal D. | Alldd
The product of mass of the body and its velocity is called
14,
A. | Power | B. | Energy
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.| Momentum | D. | Force
Uglelel £01 wa Adlel] RIS 5& 9.
. [A | UlR B. |Qxl
C. | daHI D. | yu
The Sl unit of momentum is
15. | A. | kgm/s B. [m/s
C. | kgm/s? D. | m/s?
Ut Al SIAWSH 8.
WM A | kgmis B. | mls
C. | kgm/s? D. | m/s?
Which law state that “The total momentum of any group of objects remains the same
16 unless acted on by outside forces” ?
" | A. | Law of conservation of energy B. | Law of conservation of momentum
C. | Law of conservation of inertia D Law of conservation of velocity
") 6LSUWU G2l HL ol 1A dl Uslelell UYS of §6 AdAH Ll 1YW S D"~
[1uH ulld 8.
q<. g :
A | Gl AR@8lell [ty B. | dalHlet ofl HIEBLeA) [AyH
C. | %Scd ol A3&RLell [y D. | dal el A2&8lell [1uy
If an object speeds up from 20m/s to 120m/s in 5s, what is its acceleration?
17. | A. |20 m/s? B. | 100 m/s?
C. |50 m/s? D. |40 m/s?
A5 Uglelell 431 5 AsosHi 20m/s &l 120m/s &l 8. dsfl Udal ded) Q12
19. | A. | 20 m/s? B. | 100 m/s?
C. |50 m/s? D. |40 m/s?
What is the force applied to object of mass 5kg to accelerate 3m/s? ?
18. | A. | 10N B. | 12N
C. | 15N D. | 20N
5kg £01eil dq ol 3m/s? «il WAdle{l WAld scll Hie 52G sl A 1Ug UsQl?
. | A. | 10N B. | 12N
C. | 15N D. | 20N
The angle formed by a rotating body per unit time is called
19. | A. | Angular velocity B. | Angular Displacement
C. | Angular acceleratlon D. | None
ddul oUld sl uelel Gl WSH UHAH| WaAd WRlL . 58 B
e | A | s1Qlludal B. | slafly 2elelidR
C. | slally udal D. |Asuyldle
The rate of change of angular velocity is called
20. | A. | Angular Displacement B. | Angular acceleration
C. | Displacement D. | Acceleration
SIQlA ALl BsR el e 58 8.
Ro. [ A | sleild Relelid? B. | slgfly udal
C. | alddid? D. | uda|
The force exerted by the radius towards the center of a circle which makes an object to
o1 |MoOve in a circular path with uniform speed is called
" | A. | Centripetal force B. | Centrifugal force
C. | Internal force D. | External force
dduiell 3o ds (Aol gl2L Eldld ol %8 Uglela 34y datef], ddurue U dufd
51d d4 58 8.
1.
A. Es«qat 1Hl W B. | 5l o
C. | ¥idRs wa D. |uwlel o
22. | Mass x Acceleration =
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A. | Impulse B. | Force
C. | Time D. | Velocity
01 X Ydal=
R A | wlEld/1d2) B. |ya
C. | My D. |da
The outward pushing force from the center on an object which is in a circular motion
23 with consta_nt velocity is called _
" | A. | Centrifugal force B. | Centripetal force
C. | External force D. | None
Y daLef], ddvl AAld Sctl Uelel UR deil Fog, &l €2 @ oscll HI2 % wWol dldl del
53— 58 8.
AL | Sl B. | Segolidl
C. |dlel o D. | AsyQlils
The inter molecular force between glass molecules and water molecules is known
as .
24. A. | Viscous force B. | Cohesive force
C. | Adhesive force D. | Weak force
Sl W) 3el UIR[ledl AQ] 4 4Ll MidR WY vl w1 di
- 0w 4L 241 8. '
" LA | el B. |¥ulsd
C. | W& D. |dls
The temperature at which value of surface tension becomes zero ,is called
o5 Te_mperature
A. | Curie B. | Super
C. | Least D. | Critical
% dlUHlal Ydlslell YBdIQL of Y& o A oA d dlUHled a_ dludlel 5&
8.
A 3] B. |Jyu
C. | YeldH D. | sild
Sl unit of surface tension is
26. | A. | Newton B. | Dyne/meter
C. | Newton/meter D. | Dyne/centimetre
UBAIQL o] 4. 218, WY g B2
. | A | yeel B. | sloe{leR
C. | oyesipileR D. |sige/AleHleR
If temperature increases then surface tension will
27. | A. |increases B. | becomes zero
C. | remain constant D. | decreases
dluYlel Ui duR] saelyBdlal
9. |A. |ay B. |y
C. |wynw D. &
For small deformation, stress and strain are to each other.
28. | A. |inversely proportional B. | directly proportional
C. |equal D. | None
silofl (AeyQl HiUldwo wa [dg(d 2 su{lomeil SlU V.
W. |A | d UHILY| B. | dUHIV
C. [ yHlel D. |Asu.laifs
Inverse of is called compressibility.
29. | A. | bulk modulus B. | Stress
C. | Young’s modulus D. | Strain
Re. ol el exefldl 58 8.
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A. | ules Y1sydy B. |uldun

C. | o Yylsydg D. | [asld

Pressure is a quantity.
30. | A. | scalar B. | fundamental

C. | vector D. | none

e8] AR Y.
Jo. | A | el B. | Hueyd

C. |ulex D. |asuywliaifs

Sl unit of stress is
3. |A. |N B. |J

C. |Pa D. | Pa/m?

Uldwiell sixsH 8.
39 |A. |N B. |J

C. | Pa D. | Pa/m?

Small drops of liquid are spherical in shape because of :
32. | A. | surface tension B. | atmospheric pressure

C. | viscosity D. | Elasticity

___ sl dld ydlsleii 2lul sk slu 8.
32 [A | yydial B. | dldldR0le] e l

C. | Qleldl D. | ReifdRalusdl

A tension of 100N is present in a wire of cross-sectional area 10° m2. Find stress in the
33 wire.

A | 108 N/m? B. | 10" N/m?

C. | 107 N/m? D. | 108N/m?

105 m2ALSBeell AASN dlULl A8 dIRHL 100 N ol dRLLAMO & dl dIRHI
33 | Hlduasl agid?l s

" A | 108 N/m? B. | 10" N/m?

C. | 107 N/m? D. | 108 N/m?

Surface tension tries to area of free surface of a liquid.
34. | A. | increases B. | none of these

C. | remain constant D. | decreases

YBAIRL UdL[E ol Ysd quIdleli AAsn Ui 5L Ydeel 53 9.
3%, |A | duRl B. | AsuQlaife

C. |3y Awdl D. [gealsl

Velocity of liquid at which streamline flow converts into turbulent flow is called
35. | A. | critical velocity B. | linear velocity

C. | terminal velocity D. | relative velocity

% d¢ A2 YR 1] d&et of dU{dR Ugjod deaiyi Al del 58 8.
3U. | A | silddal B. |3uilyday

C. | 2[sg dal AlUe A2l

Reynold number of liquid is 4000. What is name of its flow?
36. | A. | Turbulent flow B. | Streamline flow

C. | Both D. | None

) Ucll&letl 3e11ES siodR 4000 S1A dl deil Ualle sl s&al?
35 |A [ ugoey Udle B. |l ydls

C. | uid D. |Asualaifs

Sl unit of velocity gradient is .
37. |A. |S B. | m/s

C. |st D. |m

AL yeel Al WsHSI 8.
39.

IB |B. | mis
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st |D. |m
S| unit of coefficient of viscosity is )
38. | A. | Ns/m? B. | Nsm?
C. | N/m? D. | Nm?
R leldl Blisell S1 A sY 2}
3¢. | A. | Ns/m? B. | Nsm?
C. | N/m? D. | Nm?
Height of liquid in a capillary tube does not depend on
39. | A. | atmospheric pressure B. | density of Iqu|d
C. | angle of contact D. | acceleration due to gravity
3Qleioilii udlsl-ll Guly YR A LEIR RLudd L el
3¢ |[A | dldIdRBls £nl1Rl B. |udlélsl esidl
C. |welsla D. | 9xcd udol
Liquids like oil and honey are not able to flow easily because of
40. | A. | Pressure B. | Surface tension
C. | Density D. | Viscosity
dd A e Bal vdlel sul siReel Hrod el del 1sdl -2l 2
¥o. | A | 08l B. | y¥dlul
C. | deldl D. | laidl
If the value of the angle of contact for a liquid is greater than 90° , (6>90°)the liquid
41 will in the capillary tube.
" A |rise B. |fall
C. | Remain stable D. | overflow
% 516 UdLE] HIS AU 5181e YU 90° $cdL dHIR E1,(6>90°) dl 41 UdlLEl
. YlAHi Wl 32laoilui
LA | GuR yael B. |+flA Gdzel
C. | Rerz:e2 D. |4l glulg 2
If a body can completely regain its original shape after removal of the deforming force,
42 it is called bodly.
" | A. | elastic B. | plastic
C. | partially elastic D. | none
[apuswa £ Sl o) ugelel Wldlefl 4o Redld AYRuEl UiH 531 213 ddl uelela
uslel 58 8.
B A T Rulais B. | xRufdelys
C. | uud: Reauldrulys D. | AsuQlaifs
Flow of water coming out from waterfall is an example of
43. | A. | Steady flow B. | Laminar flow
C. | Linear flow D. | Turbulent flow
dlydlel usquigll o Gelsr B,
¥3. | A | Rl dee B. | i deet
C. | uily geet D. | ugoy ges
On the temperature scales of °C and °F ,which value of temperature is the same ?
44, 1A |0 B. |-32
C. |-40 D. |40
dAlUHlelell UL YR UL °C 3 °F HIUsHo YRI 4041 w1d 8 ?
¥¥. |A |o B. |-3R
C. | -¥o D. | %o
Heat capacity of a body depends on the .
45 A. | material of the body and its mass | B. | temperature
" | C. | material of the body and its D. | volume

temperature
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yglelofl GMIHLRAL of YU U2 2 [H1RAS.

YU | A | yelelsl od ue £0 B. | dluylel
C. | yelelef] ostd el dluH el D. |s¢
Which metal is filled in thermometer ?

46. | A. | Mercury B. | Aluminium
C. | Steel D. | Copper
1{l22 Ui 59 Hlq MM 11d & ?

¥e. | A | Hsy3l B. |Aeyluy
C. [¥ld D. |slw
If one end of the bar is kept in contact with a gas-stove, then the other end will get

47 heated after some time due to

" | A. | Heat radiation B. | Heat Conduction
C. | Heat convection D. | Electric Current
Ay el YusHi AVE QLULS ol HOTlAL <1l 118 BSL o €18 ANSL YHY Ue] oflos)
% B8S\ __ tedila 18 2Ry Y1y 8.
- [A [ GuulERal B. | GMldse
C. | GMlofys] D. | [dydudle
Which temperature is known as absolute zero temperature?

48. |A. |0K B. |0C
C. |-273.15K D. | 100 K
53 dlulel (1081 Qe dluHlel dils Wlauwiy 82

¥C. |A. |0K B. |0TC
C. |-273.15K D. | 100K
Which thermometer works on the principle of Thermal Expansion?

49 A. | Bimetallic thermometer B. Mercury thermometer

" | C. | Platinum Resistance D. | Pyrometer
thermometer
s il 2R dideli Gu{lU UKL Rlegid UR 513l 53 872

¥e. |A | oanelfas gyldle: B. |Hsy3l gdlle:
C. | @2l ey ali{ler D. |[yvrRI{leR
Which is non-contact thermometer?

50. [ A. | Mercury thermometer B. | Bimetallic thermometer
C. | Pyrometer D. | Platinum Resistance thermometer
[Wetius aylle: sy 82

Uo. |A. | Hasy?) anlHlex B. |ouiellas unlHlex
C. |yrRlleR D. [ @2leiy vt wylileR
100 C temperature = Fahrenheit

5L [A J195 B. [514
C. | 212 D. | 336
100°C dIYHlel = Belsle

Ui | A | 195 B. | 514
C. | 212 D. | 336
By which of the following ways energy of sun reaches to earth?

52. | A. | Conduction B. | Convection
C. | Radiation D. | All the above
o1 w0l Hiell YA «il Gorl yed] Yyl 50 d ulsd 82

U [A | GYldee B. GN-lMlloi
C. | GwIfa(s@ D. | GURell o8l %

Heat transfer in liquid and gases takes place by

53. | A. | Convection and Radiation B. | Conduction

C. | Convection D. | All the above
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ydls] wa diRyHi G lef dsal

as gy 9.

U3, | A | Glst¥el A B I[d (501 B. | GwIdsst
C. | GM[e{Ysd D. | GU el Wyl %
is the SI unit of heat energy .
54. | A. | kelvin B. | kilogram
C. |joule D. | celsius
__ ¥ GGl el s dsH B,
uy. | A | 5(caq B. | [sellauy
C. |%q D. |Aluy
Hooke’s law given by
55. | A. | Stress a strain B. | Stress o 1/strain
C. | Stress + strain = constant D. | Stress - strain = constant
&5 ol [y qS WY B,
Uu. |A | R a8 B. |R¥da1/ R
C. | U+ Wl = WYY D. | R¥ - 28l = WU
With the rise of temperature, generally the viscosity of fluid:
56 A. | Increasesinitially and then B. | decreases
' decreases
C. | Remains constant D. | increases
dludi-iyi gy R] edle]l, UM Id déedl Reldtdl
Us. |A | euldHidd S udugleae |B. |42
C. |3ynwWd D. [qd
For Human beings ,Ultrasonic waves are
57. | A. | Audible B. | Infrasonic
C. | Light waves D. | Notaudible
Yol Y2, e (Al[e15 dall 8.
yo. |A |8y B. | &osllleAs
C. | uslol el d3all D. [u8lly
Electromagnetic waves are example of waves
58. | A. | Longitudinal B. | Transverse
C. | Mechanical D. | none
[Agdysla dd0 _ d22ll of GelsW B,
Uuc. | A | ¥ald B. |dudld
C. |uilAs D. |Asuywliafs
The wave which requires elastic medium for their propagation is called wave
59. | A. | Mechanical B. | Non-Mechanical
C. | Both D. | none
% d9l A YA U2 ReUfdReIUs Hitdy ol e USdad _ d 58 8
Ue [A YIRS B. | [04-yi[3s
C. |wa D. |asulaifs
In transverse waves, direction of vibration of particles of medium is to the
50 direction of propagation of wave.
" | A. | perpendicular B. | parallel
C. | Both D. | none
Goidld dRINHL 581l $Ustofl (€211 dRNeAl YHRBLAl (€211 o SIU B.
€o. |A. | €y B. |duid:
C. | D. | wsyyl sife
Audible sound wave has frequency .
61. | A. | 20Hz to 20kHz B. | more than 20kHz
C. | 20 Hz to 2000Hz D. | lessthan 20 Hz
€9, | 8l e fol 423Nl wig[d ey 8.
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A. | 20Hz ¥l 20kHz

B.

20kHz 5l 4y

C. |20 Hz ¥l 2000Hz

D.

20 Hz 5l {1y

Relation between frequency(f) velocity(v) and

wavelength()) for wave is

62. |A. |[f=v/A B. |[f=Mv
C. [f=\v D. | f=1/(\v)
291 4L A1 [d(f), AdU(v) el dRAGHLE () ol Aouid
WROJA [ f=v/A B. |[f=Mv
C. [f=\v D. | f=1/(\v)
When two waves of same frequency and 1 meter amplitude superposed on each other
63 than maximum possible resultant amplitude will be ..........
LA | 2m B. |4m
C. | 6m D. |8m
YR 6 YUl Mg [dl A 1 HleR SulddlR d2lddl dd0 A (6491 UR uld
3 | 4R dl Ul 215 HedH SulddR
A. | 2m B. |4m
C. [ 6m D. |8m
Sound wave can’t travel from
64. | A. | Water B. | Matter
C. | Air D. | Vacuum
ecl el d3all Higl YAR 48 2sdl =g,
ey, A [uwll B. |¢
C. |e&dl D. | aldslRl
Value of co-efficient of absorptivity of sound is maximum for
65. | A. | Open window B. | Heavy curtain
C. | Heavy carpet D. | Audience
eq (o QNG ¥ise] Y& 412 ¥lell dy €l 8.
eu. | A | uedl idl B. |®RRusel
C. |adRse D. | 2ildl
Sound wave having frequency greater than 20 kHz is called
66. | A. | audible sound B. [ infrasonic wave
C. | ultrasonic wave D. supersonlc wave
eq(of o{l w419 [cl 20kHz &l d8R €Y dl dsl Q) 5&dlU?
€% | A | 3l e (e B. | gosldllels
C. | wellles D. | Julleis
Wavelength and frequency of a radio wave are 12 m and 25 X 108 Hz respectively.
67 Calculate its velocity.
A | 3X10%m/s B. |2.08X10°m/s
C. |300cm/s D. | 300m/s
25 (S dlefl dRAGHLEY 12 m Wl WIg[d 25 X 106 Hz 8, dl dell 421 2114,
9. | A. | 3X10%m/s B. |2.08X10°m/s
C. |300cm/s D. |300m/s
Time period of a wave having frequency 100 Hz is
68. |A. | 0.1sec B. |1sec
C. 10.01sec | D. ]0.001 sec
100 Hz #19[d dlddl d20 ol Alddsia 2}
%¢. | A. | 0.1sec B. |1lsec
C. 10.01sec D. |0.001 sec
Who gave formula of reverberation time ?
69. | A. | Newton B. | Sabine
C. | Joule D. | Pascal
e U(d el 41 of Yot S1QL A 1e)?
A [ et [B. [Auiiset
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C. |%« |D. | ulsd
In optical fibres, ray of light passes through.......... phenomenon.
70. | A. | Interference of waves B. | Reflection of waves
C. | Polarization of waves D. | Total internal reflection of waves
W5 SIOGRML_ e2ell GIRLUSIRU (5@ UAIR AR D,
90, | A. | 43l of cudls:@l B. | 432l o Ulddst
C. | d3dll of ydlleidst D. | d2a0l of yul id[RS ulddst
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